[image: image1.png]3.17  The solid shaft shown is formed of a brass for which the allowable
shearing stress is 55 MPa. Neglecting the effect of stress concentrations, de-
termine the smallest diameters dyz and dpc for which the allowable shearing
stress is not exceeded.
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[image: image4.png]3.18 Solve Prob. 3.17, assuming that the direction of Tc is reversed.
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[image: image6.png]Note that the direction of T has been reversed in the figure to the left.
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[image: image7.png]349 The allowable stress is 50 MPa in the brass rod AB and 25 MPa in
the aluminum rod BC. Knowing that a torque of magnitude T = 125 N - m is
applied at A, determine the required diameter of (a) rod AB, (b) rod BC.
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